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Figure S1. The significant difference of yield increment of shelterbelt before (a) and
after (b) cutting. The control group is the average relative yield within the distance of
15 to 20 H that is not affected by the shelterbelt. Error bar represent the standard error.

The star symbol means the yield increment has significant difference (p<0.05) from the



control group. The x-axis represents the shelterbelt classification (T: all densities, Hi:

high density, M-H: medium-high density, M: medium density, L: low density).



